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1. a) What do you mcan by task scheduling ? Explain dif'f,task scheduling algorithms.

b) Explain:
i) Message Queue ii) Mutex
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OR

Explain the architecture ofthc Kemel for embedded opemting system.

What is a semaphore ? Explain its role in synchronization.

Explain the PIC
i) WREC register ii) FILE rcgister

What is a directive ? Explain the assembler directive of PIC.

OR

Explair the PIC l8 status register.

Describe the steps for executing an interrupt in PIC.

1

6

7a) Write a PIC l8 program to get a b)'te ofdata from Port C. lf it is less tban 100 send it lo
Port B, otierwise scnd it to Port D.

b) Explain the follol^ing instuctions
D BNZ ii) BCF iiD ITC'AI-I-

OR

a) List the diffcrcnt register ofTimer o ofPtC 18. Explain the TOCON rcgister.

b) Wdte a progtam to transfer the letter'G'serially at 9600 baud corrtinuously. Use Sbit data

and I stop bit. Assune XTAL = 10 \IHz

a) Explai[ the general structurc ofcyclic schedules.

b) Write the algorithm for const ucting static schedulc.
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8. a) What is slack steating ? Explaio hou'rhe avemge response time of oPeriodic jobs can be

improved by this techniquc.

Explair lhe pros .urd corrs of.iock dri./e:r scheduling.

Explairr the RNI algorithrr Io assignirrg lixed priorit]. .

Compare and contrast fixc(l priority tir.d dynamic priority algorithm.

OR

Explairr the schedulabilily lcst for fixed priority tasks with short response time.

Explain the LST dynamic priority algorilhnl.

Explairr schcdulabilily of li\ed priorit]' systems containillg dclorrable scryer.

Explah constant utilizalion sener algorithm-

OR
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12. a) What ane sporadicjobs l'F\plain schcdulability of sporadic jobs in deadlinc drivel
system.

b) Explair the total band\\.idllL se cr altsorithm
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